
Installation Manual 

Ø10

Ø8

        (x5)

        (x5)

        (x1)

M6x12 (x4)

(x2)

M8x90 (x5)

Ø10 (x5)

1830mm

H
+

4
3

m
m

58mm

(x2)

M4x6(x2)

10mm

H

        (x1)

        (x1)

        (x1)

(x2)

(x2)
(x4) (x4)

M4x6 M5x6

(x2)

ST4.2x25 (x 4)

Ø8 (x 4)

(x2)

(x4) M5x6(x4)

        (x1)

        (x1)



1

Left

Right

32

H
+

4
3
m

m
58mm

(x5)

(x5)

54

(x2)

50mm

Ø10



6

7

35mm

Ø8

37.5m
m

35mm

Ø8

37.5m
m



8

Rail

Door

Rail

Door

1

2

4 5 6

3

Move the door.

9

Rail

Door

1

2 3

Move the door.



Rail

Door

4 5 6

10

(x2)


	页 1
	页 2
	页 3
	页 4
	页 5

